¥ B8 ] “ x 2
EE G
E =3 L & g
BEAe
Bd AL — BE X
TR20%F8A28 #1T| ALETE |BEHETLHEREHNE E B = TeE |SEHBBEE A N & —
£ B E B BRE1S
¥ B 4 i ERERETS
% 7% 18 R FTABREBERAZTRAS A
¥ E il #% 2433240 H A*L%tbﬁﬂﬁ% 2,253,000 M
A K OB 2 O#® £ I
A K OB R % i =
% 1 @ A % £ 2 @ A % 3@ A
W 4 & T % 2,180,000
® OB OB B I % 2,000,000 %KL
(R B e 2,150,000
XK E @ BI £® 2,325,000

iE & AEBEIT ALELHEBEORICEASNI-EED 1005 D8ITHY T HEEEMEL -4
(HBEREHEITIARBOHERAHLHLEEL. TOMBEEEYYIETHE£EE) TH D,




# B ] “ x 2
EE G
E =3 L &% g
BEAe
B AL — BE X
FERE29FE8H2H #IT| ALBTE |[BHETHLHBANERE 8 & = URE |BEELBERE A I B —
E = BKkE29155
¥ B 4 PR K EA— S — B T E
£ % 1B TALERER A R ik
¥ E Il % 2,363,040 H )\*L%ttﬁiﬂﬂ% 2,188,000 H
A K OB 2 O#® £ I
A OEFE OE % i =
% 1 @ A 4 £ 2 @ A % 3@ A
W 4 & T % 2,220,000
® OB OB B I % 2,000,000 =L
BN FZ BT EM 2,150,000
W T W B 2,200,000

iE & AEBEIT ALELHEBEORICEASNI-EED 1005 D8ITHY T HEEEMEL -4
(HBEREHEITIARBOHERAHLHLEEL. TOMBEEEYYIETHE£EE) TH D,




# B ] “ S 2
EE G
E =3 L &% g
BEAe
B AL — BE X
FERE29FE8H2H #IT| ALBTE |[BHETHLHBANERE 8 & = URE |BEELBERE A I B —
E = F¥1018
£ B % HEEERFEOLBATE
£ % 1B TAHBARBERAFTRAS R
¥ E Il % 3,294,000 M A*L%ttﬁiﬁﬂ% 3,050,000 H
A OB R # 2 =
A OEFE OE % i =
% 1 @ A # £ 2 @ A # %= 3 @ A

W 4 & T % 2,798,000

X KR OB B I % 3,000,000

W W & T B IE 2,880,000

% it 2 £ 3,100,000

E O+ N I B T R

# X 2 5 2,950,000

o f 34 e £ 2,500,000 =L

iE & AEBEIT ALELHEBEORICEASNI-EED 1005 D8ITHY T HEEEMEL -4
(HBEREHEITIARBOHERAHLHLEEL. TOMBEEEYYIETHE£EE) TH D,




) s ] 0 Ed
EE G
E E L g8
B
i #L — g %
FR29E8H2E #T| AHLBTE |BHETLBEMBENE 5 B = TSE |SEHEGBEER B W @ —
£ B E 5| BR¥2s
¥ B % Kig FigAERGETE
% % 5 W TBABHAZTRAS #HhA
¥ E i #% 3,380,400 M )\*L%ttﬁs‘aﬁﬂ% 3,130,000 M
A HoB B OB £ =
A L OEFE OE % & =
£ 1 @ A £ 2@ A % 3@ A #
N X e E2 2,650,000
b £ # S i R
@ W A T B & 2,580,000 =L
| it # ES 3,000,000
A O+ M I B # R

iE & AEBEIT ALELHEBEORICEASNI-EED 1005 D8ITHY T HEEEMEL -4
(HBEREHEITIARBOHERAHLHLEEL. TOMBEEEYYIETHE£EE) TH D,




